LDDT-based clustering dendrogram for C1901

_ G €£2TSLTO6TD

G 68€S1T06TO

T 8G¢SL1TO6TD

T 06¥SLT06TD

Z €ZTSLTO6TD

_ G TTZSLTO6TD

€ TTZSLTO6TD

T 6SESLTO6TD
¥ 68£S1TO6TD

¥ €.ZS1T06TD

9 €.¢S1106T10

_ ¥ TTZSLTO6TD

| G /90S.1TO06TD
€ /90SL1TO6TD

_ ¥ €2ISLT06TD

— ¥_/90S1T061D

— ¢ /90S1T06TO

T /90S1T061O
¥_8EYS1T06TO

%L 1T 8EYS1T06TD

G 8EYSLT06TD

— ¢ 8EYSLTO06TO
€ 8EYSLT106TD _
_ €_ETPSLTO06TO

¥ STYSLTO6TD

_ Z 2STSLTO6TD

Z SIVSLTO06TO

S €T¥SLTO6TD
| — € €/2S1T06TD
T 2¢STSLTO6TD

T_STYSLT06TD
Z €/2S1TO6TD

G ¢STSLITO6TD
_ T_TTZSLTO6TD

— € vI¥S1T06TO
¢ YI¥S1106TO
€_/80S1T061O

— ¢ /80S1T06TD
T /80S1T06TO

¥ ¥T¥SLTO6TD
T ¥T¥SLTO6TD
S YI¥S1TO6TO
_
|
|

¢_0T1¢S1T06TD
T 0TZS1T06TO

S_69€SLT061O
¥ 69€S1TO6TO

2 _69ESLT06TD
ﬁ||%|||¢ — T 69ES1T06TD
€ 69€S.LT06TD

_ ¥ ¢STSLT06TD

€ 9GTSLITO6TO
|%||; — Z 9GTSLT06ID
¥ 9GTSL1T06TD

— 9 99TS1T06TO
= T 99TS1T06TO
T TOYSLT06TO

1 ¥ _TETSLTO6TD
Z TEISLTO6TD

h||¢ G TSTSLITO6TD
_ € TETSLTO06TD
T TETSLTO6TD

_ € 9€2¢S1T06TD

¥ GTZSLTO6TD

_ Z GTZSLTO6TD

¢_€TZ¢S1T06T10
T €1ZS1T061O
S_€TZS1T061O
— € E€1¢S1T106TD
— ¥ €1Z¢S1T061TO
T 82Z¢S1T0610

T_€/2S1T06TD
| — T ¥¥0SLT06TD
€ ¢STSLTO6TD
_ Z_9€2S1T06TD

_ G GTZSLTO6TD
_ T _9€2S1T06TD

_ T GT2S1T06TD

€ 0TZSLTO6TD
€ 68ESLITO6TO
T 68ES1TO6TD

¢ 68ESLT06TO
G_89¢S1T06T1O
— ¥ 89¢S1T06TO
€ 84¢S1T06T1O

Z 8G¢SIT06TD

¥_0vZS1T061O
I; ¢ 0¥ZS11061O

G 0¥ZSLT06TD

€ 0r¢S11061O

T 0¥ZSLTO6TO

| ¥_9E€ZS1T061D
€ G1¢S1106TO

_ Z_SOvSL1TO06TD

_ ¥ 0TZSLTO6TD

G 9£2S.1TO6TO
S 0TZS1TO06TD

G GO¥SLTO6TD

¥ GO¥SLTO6TD
T SOVSLTO06TD
Z_£00SL1T06TD
— T €00SLTO6TD
€ €00SLTO6TD

€ S0¥S1T06TO

_ G 8/2SL1TO6TD

_ G 8STS1TO6TD

T €2TSLT06TD

_ T_8/¢S1T061D
T 89TS1T06TO

_ € 8/2SI1TO6TD

_ € 8GTSITO6TD
_ Z_8/2S1T06TD

_ Z_8STSLITO6TD
_ v 8/2S.1TO6TD

_ € €ZTSLTO06TD
Z TIZSLTO6TD

S_60€SLTO6TO
¥ 60ESLTO6TO

_|A
h|||¢ € 60ESLTO6TO

T 60€ESLTO6TO

T 002SLTO6TD

_ ¥ 8GTSLTO6TD

_ € Z8TSLITO06TD

S /¥2S1TO6TD
Z L¥2ZS1TO6TO
v _J¥2S1T06TD

— T /¥ZS1TO6TO
€ LvZS1T061D

_Z 60ESLTO6TD
Z 662S1T06TD

_ ¥ 2Z8TSLTO6TD

_ Z ¢8TSLTO6TD

_ T 28TSLT06TD

G Z8TSLTO6TD

T_S0TSLTO06TD

T 990S.1TO6TD

_T /yESITO6TO
T 961S1T06TO

€_66¢S1T06TO

T 66¢S1T06TO

T 20TSLT06TO

80 90

0

ybraH

¢0 00

hclust (*, "complete")



